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1. Leto(t)=1ift >0 and o =0ift < 0. Construct a neural network with two inputs,
one hidden layer with nodefunction o such that with inputs (0,1) and (1,0) the output
is 0 and with inputs (1,1) and (0,0) the output is 1.

2. Use the backpropagation algorithm to get an estimate of the derivate of the output of
a neural network with respect to the input. Assume for example that the node functions
are Lipschitz continuous.

3. Let f(z) = -~ and z; = =5+ %j. Choose the coefficients ¢z, & = 0,... ,n such that
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is as small as possible. Investigate numerically how A should be chosen so that, for example,
the error sup, <5 f(2) — D op_y ck2”| is as small as possible.

C1. Write a Matlab function makepar such that aux=makepar(dim,X,Y) produces a
vector aux that contains the dimensions of the network given in dim, the input vectors
given in the matrix X and the outputs in the (matrix) Y, so that one easily from aux can
reproduce the structure, inputs, and outputs of the network. (This vector can then be
given as argument to another function such that when it gets the weights and thresholds
in another vector, it can calculate everything one wants.)



